BARYTON
362110 - LE BARYTON

Pieces détachées Vue éclatée

| NOMENCLATURE ET ECLATE I

«  Ensemble

Support foyer 0367 3138 00 5 i 4137 996045 098
umpon rond 1428 3138 53 Colé intérieur 2310 996045 053
s 2507 362110 098 Déflecteur 0131996045 053
ignée 2839 362110 098 ixe vitre 2078 996045_000

Dessus 1101 362110 053 ion derri 2420 996045000

orte foyer 2861 362110 053 Plague arriére foy 0160 996059 001
1156 362110 053 crou carré M5 00001300269

enfort droit fagade 1935 362110 053 u carré M6 00001300270

enfort gauche fagade 1936 362110 053 int bouclette TI0. 00001307770

cusson 8501_362111_098 resse @ 11.5 Ig 1640 mm. 00001305426

Cendrier 3316 369101 096 resse @6 1g 1110 mm 00001304689

CIé & crochet 4101 3720 01 ire 386x227x4cp 00001305409

Buse ronde (125 ext) 312371 01 is poélier M5x10 00001306969

Gond porte foyer 2818 996045 098 is TF 90° M6x16. 00001305965

362110 le BARYTON Page 7

Rep
1

10367313800 SUPPORT FOYER 3138 BRUT

C
13 14312372101 BUSE RONDE D=125 3721 EBARBE

21 00001300269 ECROU CARRE BRUT M5X80 10X3

23 00001307770 GANT BOUCLETTE 4700 TAILLE 10 1 C

Page 1/ 2 24/06/2022



BARYTON
362110 - LE BARYTON
UIC

c

25 00001304689 TRESSE VERRE DIAM. 6MM +-0,6GR 15

27 00001306969 VIS POELIER M5X10 LAITONNEE E

Page 2 /2 24/06/2022



